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3. Sketch y = tan[!ix -%) se dashed lines to indicate any asymptotes. Label asymptotes and
x-intercepts clearly.
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(a) sin(sin'l x] =x forallx

(b) siﬁ'l{sin x}= x forall x

(d) cselx=sinx

Mark answers clearly TRUE or FALSE.
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{a) Find the complement of 6.
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(b) Find the supplement of 8.
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(c) Express 0 interms of n radians.
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Given that csc(8) = —ﬂr.f_-l and cos(8) > 0, find
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Calculatethe]uuarspeed in feet per minute of the upofa 11-inch lawnmower blade when the engine is
turning 1500 rpm (revolutions per minute).
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are to use a 20 foot plank to create a ramp to a truck bed 28" high. What angle will ﬂajﬁlmkmakel
the (level) ground? Draw a picture of the situation and label known quantities.
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Suppose A and B are complementary angles.
(a) Draw a right triangle and label angles A and B.
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(b) If sin(A) = x, what is sin(A)cos(B) in terms of x?
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Calculate cos(81°)cos(82°)cos(83°)-...-cos(100°). = O siace cos 72" = O

Suppose A and B are supplements. What can be said about the relationship between their respective

cosines?

cos A= —cos B,
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